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2 . Thecurrent i, inthe circuit in Fig. 3is2A.

b) Find the power dissipated in each resistor. (5% )

c) Verify that the total power dissipated in the circuit equals the power
developed by the 180 V source (596 )

B®] 2

g0

W/ —l*i2

Fig.3

7 . Find the Thevenin equivalent with respect to a,b for the circuit in Fig. 4.
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= . The OP amp in the adder-subtracter circuit shownin Fig. 5isideal.

a) Find vo whenv,=05V, v,=0.3V, v, =0.6 V, and v@=1.25V. (5% )
b) If v, v, and v4 are held constant, what values of v, will not saturate the

op amp? (5% )
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-~ . When acar has adead battery, it can often be started by connecting the

battery from another car across itsterminals. The positive terminals are
connected together as are the negative terminals. The connection is
illustrated in Fig.6. Assume the current i in Fig. 6 is measured and found

tobed0A.
a) Which car has the dead battery? (5% )
b) If this connection is maintained for 1.5 min, how much energy is

transferred to the dead battery? (59 )
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a) Find the average power delivered by the sinusoidal current sourcein the

circuit of Fig. 7. (59 )

b) Find the average power delivered to the 20 Q resistor. (5% )
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